Net Forces Practice
1. Two students are pulling a sled in the same direction.  One pulls with 2.5N while the other pulls with 7.4N.  What is the net force on the sled?

2. VQ is playing tug-of-war against Discovery.  The VQ team is pulling with 1589N to the left while the Discovery team is pulling with 1485N to the right.

a. What is the net force on the rope?

b. Which team will win?

3. A rope will break if the force on it is larger than 100N.  

a. Two students are pulling in the same direction on the rope.  One pulls with 72N.  The other pulls with 52N. 

i. What is the net force on the rope?

ii. Will the rope break?

b. Two students are pulling in opposite directions on the rope.  One pulls with 72N.  The other pulls with 52N. 

i. What is the net force on the rope?

ii. Will the rope break?

4. A car is stuck in a snowdrift.  The drift is applying 200N of force to the left.  The driver is pushing with 150N of force to the right.
a. What is the net force on the car?

b. Will the car move?

c. A person stops to help move the car.  They add 57N of force to the right.

i. What is the net force on the car?

ii. Will the car move?

5. A toy car will break if a force of 56N is applied to it. Two children are fighting over the car.  One is pulling to the left with 17N.  The other child is pulling to the right with 35N.
a. What is the net force on the toy car?

b. Will the toy break?

6. A family is trying to move a sofa into a new apartment.  The sofa requires 235N to lift.

a. First, the two adults each apply an upward force of 95N to the couch.

i. What is the net force on the couch?

ii. Will the adults be able to lift the couch?

b. Next, the two teenagers try their luck.  One teen applies a force of 80N while the other teen applies a force of 100N.

i. What is the net force on the couch?

ii. Will the teens be able to lift the couch?













